What were those stupid Laws of Indices again ...
1. a¥xa’=a

2. a¥+a'=a
pr (=2
T =
50" =

Bora W=

Exercise 1
Express in index form:

1. 333353 2.4%4%5%S5%S5

4. 230 Dk 5T 5. ;
10 x 10 x 10
7. V15 8. V3
10. (v/5)°
Simplify: ¢
11. \“ X \* , 12. y® x y’ 13, 22’
15; m -—m 16. e x e72 1 _r“: x y*
19. y* x y? 20. (x%)° 4 R L
23, w7 x w? 04 ey 25. (%)
27. ¢ %64 28. x ' x ¥ 29. (y*)?
al. gt as Rt . 38 °F
35. 2x% x 3x2 36. 5y° x 2)° 37. 5a° x 3a
39, 3x% =x? 40. 8y + 2y 41. 10y + 4
43. (n) x (3x)° 4. 4z% x z77 45, 6.\"3 w
47, (x?) + (x3)° 48. Tw™2 x 3w™! 49. 2n)* =
Exercise 2
Evaluate the following:
1.3%x3 2. 100° 3. 37
5. 4* 6. 16* 7. 81}
9.9% 10. 273 11. 9%
13. 1} 14. 2571 15. 1000%
17,28 =" 18. 8% 19. 273

Hillel Academy
Mathematics SIMPLIFY means you should leave your answer in
Crade 8
Indices EVALUATE means you should find the

@)
21. 36 x 27° 22. 10000% 23. 100?
25. (9%)2 26. (—16:371)° 27. 81% = 16%
29. 1000~ 30. (4717 31.8°%
33. 13 34.2°° 35. (0-01)
37. (225 38. (7:63)° 39, 3¥ x 373
41. (114)7? 42, (1) . T
45. (1075 46. 7* + (7 47. (0-0001)~*
. 3 3 1 .
’ JX7X71X7 49. 25:914: 50. (—1) + (1)
23X 3% 3% 3
9. /10 Exercise 3
Rewrite without brackets:
L3 2 (7). 3. (10ab)?
14, 250 ;50 5. (4x?)! 6. (%)™ T (79!
18 A s 9, (5x 1) 10. (1x)7' 11. (3x)% x (2x)
23 w3 x w2 3. xY 14. 3y 15. (5x°)°
26. (4 17:.0"% 18. [(79)'] 19. (2x%y)’
0. () Simplify the following:
gg: S; )) 21. (3.\-j‘)3 ol 22, (4x)F + x? | 23. x%y? x .\-_1--‘
42. 8a x 4 25. 10x7'p* x xy 26. (3x)* x (%.\'2)7 27. 2%yx x x’yz
46. 55° 22y 29. (3y)' = (9y)! 30. (x)° x (9x)? 31. (x%y) 2xy) (50%)
50. 4x7 +2x? 33 57 = 0x 2 M. [3x7H7g! 35. (2a)% x 8a*
37. Write in the form 27 (e.g. 4 = 27):
(a) 32 (b) 128 (©) 6 @1
38. Write in the form 3¢:
(@) 3 (®) 5 © 3 ) 9%
4,35 i
8 g} Evaluate, with x = 16 and y = 8.
8“ 39, 2x x 40. x* x y! 41. ()t -+ 9x)}
16' 27 > x2° 43. x+y! 44, x1 +y! 45. y% sxt
20. 4% ~
47. (x* +y -t 48. x* —_v% 49. (.\'%}')_%

What's the hig difference between “Simplify” and “Evaluate” ?77.

50.

24. (100%)7
28. (57
32. 100%
36. (0-04)*
40. 33)
4“4. (%)
ot

dre

. (2xy 2y

i )“
12.
16.
20.

(59 +
[(5x)°P
(10xy°)?

. 4xy x 3x2y
28.
32.
. (abe?)

(2x)7% x 4x°
(4.\"1') X (8.\3)

. (33
46.

(1000y)* x x~%

L



